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Y Aufgabe 5

[> restart:
>f 1= x -> x'n;

> int(f(x), X):

_> g =X -> SUbS(n:‘ly f(X)),

g:=Xxw— subs(n=—1, f(x))

B int(g(x), x);

# Schoner
>f 1= (x, n) -> x"n;

Ik/ [

[> int(f(x, n), x);

> int(f(x, -1), x):

Y Aufgabe 6

| > restart;

()

L> wi th(plots):

> wi th(al gcurves):

> g 1= (XM2 + yA2)A2 + 3% xA2 %y -

g= () +38y—y

Blatt 2

f::xl—) Xn

Xn+1

n+1

In(x)

f=(x, n) — X

n+1

n+1

In(x)

y13;

> implicitplot(g =0, x =-3..3, y = -2..2, nunpoints = 10000);
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Y\ 0.5

> pl ot _real _curve(g, X, y);
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E plot3d([ g, 0], x=-1..1, y=-1..1.1, color = [ blue, green ], view= -0.2..0.3);




(2.2)

cos(s) sin(2 t)
2

sin(s) sin(2 t)
2

Cos(l‘)2 sin(2 s)
2

, orientation = [ 48, -55

[ 0.7,0.6,1 ]

2500, color =

nunpoi nt's

s =0..Pi,

0..Pi,
1);

t

t hi ckness

I

> pl ot 3d(f,




Y Aufgabe 7

[> restart;
L> with(plots):
> inplicitplot3d(cosh(x)?2 = y*"2 + z"2, x=-3..3, y=-10..10, z = -10..10, nunpoints = 10000);




Y Aufgabe 8

}restart;
L(a)
>qi=x->f(x) | g(x); £x)
X
q::x}—) 41
i g(x) @D
>Dg = x ->diff(q(x), x);
Dg = x+— q'(x) (4.2)
[> sinplify(int(Dg(x), x) - q(x));
i 0 (4.3)
(b)
>c:=x ->int(f(x - xi) * g(xi), xi = 0..)2();
ci= x| f(x—8) a(8) (4.4)
0
=> diff(c(x), x); Dc :=x -> ;j(iff(c(x), X):
| D(N (x—2) g(8) d&+£(0) glx) (4.5)
0
E diff(int(Dc(x), x) - c(x), x); PN



L

(4.6)



